
AEG71−4A,61

Colorimetric filter transfer  n = 6
c*6  = a c*b with a = 0,50; b = 1,00

rgb −> rgb* rgb* −> rgb*6



AEG71−4A,62

Colorimetric filter transfer  n = 6
c*6  = a c*b with a = 0,50; b = 1,00

rgb −> rgb* rgb* −> rgb*6



AEG71−4A,63

Colorimetric filter transfer  n = 6
c*6  = a c*b with a = 0,50; b = 1,00

rgb −> rgb* rgb* −> rgb*6



AEG71−4A,64

Colorimetric filter transfer  n = 6
c*6  = a c*b with a = 0,50; b = 1,00

rgb −> rgb* rgb* −> rgb*6



AEG71−4A,65

Colorimetric filter transfer  n = 6
c*6  = a c*b with a = 0,50; b = 1,00

rgb −> rgb* rgb* −> rgb*6



AEG71−4A,66

Colorimetric filter transfer  n = 6
c*6  = a c*b with a = 0,50; b = 1,00

rgb −> rgb* rgb* −> rgb*6


